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General Instructions:

1. All questions are compulsory.

2. The question paper consists of 31 questions divided into four sections A, B, Cand
D. Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each
and Section-D comprises of 11 questions of 4 marks each.

3. There is no overall choice in this question paper.

4. Use of calculator is not permitted.
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Qu

on numbers 1 to 4 carry one mark each
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In the given figure, the two triangles are similar. Write the similarity criterion used and pair of
imilar triangles in the symbolic form.

s

P
FAS
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? 1 _ B 1 A AT HifeT | ' Q :

sin 30° cos 30°

1 . 4B

Find the value of .
sin 30° cos 30°

. 2>
& = 2cosh
afe /3 sind=cos6 & @I U 1 HIF FMd hifeg |
3cosh + 2

3cos20 + 2cosH

If /3 sinf= cosh, find the value of
3cosh + 2

4 [ ‘Y 1 YFR F1' 991 ‘9 Afus R w1 éauﬁ%@zqﬁg%aa@aﬁaﬁﬁauqﬁw 1
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Which central tendency is obtained by the abscissa of point of intersection of less than type
and more than type ogives ?

e
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Question numbers 5 to 10 carry two marks each.

—

306 31R 657 1 HCF 3 ®itsie | HCF &1 ST % 396 LCM off I &ifsg

Find HCF of 306 and 657. Also find their LCM using their HCF

O,

@/Wﬁﬁqﬁmmsz.%n@wﬁﬁam%mﬁ: aﬁwqﬁﬁaﬁw%ﬁhmg :
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State whether the real number 52.0521 is rational or not. If it is rational express it in the form

P where p, q are co-prime, integers and q # 0 . What can y6u say about prime factorisation of

O

q?

TGS 13 —4x2 + 7x — 4 TGUT g(x) T T HIA W WFTRA A1 U AL 12— 2x +2 T x €, g(x)

Jd Fifea

2

(2

On dividing polynomial x3—4x2+7x—4 by a polynomial g(x), quotient and remainder are

x2—2x+2 and x respectively. Find g(x).

8 33 cm Y 91 Toh WHATG Bt & ¥iid @i T T i R

In an equiléteral triangle of side 33 cm, find the length of the altitude. ©

9 e W cos  1— sind

1+ smﬂ cosf
Prove that : COS“) o el
1+ sin® cosf
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1 0—-10 |10 - 20 |20 —-30 |30 —40 | 40 — 50 | 50 — 60 | 60 — 70
JIERIT | 8 10 x 16 12 6 7

The mode of the following data is_éé. Find the missing frequency x in it.

Class 0-10 |10 -20|20-30|30—40|40—-50|50-60 |60 — 70
Frequency | 8 10 I -=:].36 12 b.". ikl %

QUS-H / SECTION-C
T G119 20§ U&& & 3 3T B

Question numbers 11 to 20 carry three marks each.

mﬁmﬁﬁmwmmﬂﬁq%wW{uﬁmwaﬁ5m+2m5m+3$m 3
1 &l B Wehell §, ATk m HIE qurleh 2 | @

Use Euclid division lemma to show that the square of any positive integer cannot be of the
form5m + 2 or 5m + 3 for some integer m.

12 x qdTy & fag g1 Hifeg s

2x—-y+3=0
. 3x—-5y+1=0
Solve for x and y : 5
2x—y+3=0 .

3x-5y+1=0

13 T fgardl sigue 9@ S fsh gl 1 4 qen Toree HEe —8AA 1281 W& y=F W 3

@ | ' @

Find a quadratic polynomial, the sum and product of whose zeroes are —8 and 12 respectively. Hence
find the zeroes.
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16

59

T g1 A shifere foR w0 e Wae i g

2x+7y=14

10x + 35y =35

=

(i) @ﬁhéﬁa@m%
(if) 3T B &, Ul
(i) 1 A TR €

Determine  graphically ~ whether

) 2x+7y=14

10x + 35y =35

has
(1) a unique solution, |y}
(ii) infinitely many solutions or &%

(iif)  no solution

the

following

pair

of

linear

equations

% TR Tq4s ABCD 1 fashol BD War@ve AE #1 fag F W &edl € Sefs fog E 1 BC T 3

%1 fog FIfST DF x EF=FB x FA

The diagonal BD of a parallelogram ABCD intersects the segment AE at the point F, where¥
is any point on the side BC. Prove that DF x EF =FB x FA. ‘

frefafaa fos & 3w gaed € 91 7€ afe g9y €, @ s i s fafaa
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State whether the given pairs of triangles are similar or not. In case of similarity mention the

criterion. 1
(@ ' i
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cos“ 6 — sin29

2 sind.cosd
tanez—%’r‘?imw%l %ﬁs—ﬁmaﬁﬁm

2 sinB.cosb

4
Given tanf = — evadluate P
3 cos“0 — sin“0
Y

geafer fag FIT : sec2 (sec20 —2) + 1 =tan46.

Prove the identity : sec20 (sec20 —2) + 1 = tan0.

i 10-19 [ 20-29 |30-39 [40-49 [50-59 |60-69

Find the median of the following distribution :
—

Classes 10-19 |[20-29 |30-39 |40-49 |50-59 |60-69

}-requency 8 9 7 9 11

6

20/@%@@@%&xé:zso%afﬁ%m.ﬁma@ma’ammhm%:

IQ , 120-130 | 130-140 | 140-150 | 150-160

160-170

forenfetal =t 9@ | 10 80 100 50

10
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I

school, IQ of 250 students of Class X are given in the following frequency distribution :

IQ

120-130

130-140

140-150

150-160

160-170

Number of students

10

80

100

50

10

Find the mean IQ of students.

Eug-T / SECTION-D

TH TR 219310 TS & 4 3F € |

Question numbers 21 to 31 carry four marks each.

Teh &1k SAURT A i WehR 1 TR A 825 kg, 675 kg 3R 450 kg TS | I8 ifisman oo 3@ 4

aitery, foed for 1 YR 1 @8 i W& T[olie! § TI91 S TR |

A wholesale merchant purchases three types of fertilizer weighing 825 kg, 675 kg and 450 kg
respectively. Find the maximum weight that can measure the three types of fertilizers exact

number of times.

Y34

O

22,/ 4 e 3 3 A 1 = T 2100 & T 5 FRIAA a2 Aol B ged 2 1750 1w A a1 A 4
Tl STAT- 3T oI AT hIfT |

4 chairs and 3 tables cost ¥ 2100 and 5 chairs and 2 tables cost ¥ 1750. Find the cost of one
8

23 qﬁ{x2~3£l_-_25!§q?{;\4—-3x3—6x2+kx—163ﬁWfﬂ‘ﬂﬁlﬁm%?ﬁk?ﬂqﬁmml_

chair and one table separately.

If a polynomial x4 —3x3 — 6x2 + kx—16 is exactly divisible by x2—3x +2, then find the value of

k.

4

-

24 maﬁﬁﬁwﬁwm,m@4x2+3x—2aﬁa@@%®@ﬁaﬁ%mﬁm|W%ﬂ 4

8x4+14x3 —2x2 4+ 7x—8 T TTH W I TH o= &l T U o S foF ek &l =xt & A9 1z

T o1 T HI S Rt aft g < den oew @ e feel w1
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Ram other has given him money to buy some boxes from the market at the rate of

+3x—2. The total amount of money is represented by 8x* +14x3 — 2x? + 7x —8. Out of this
money he donated some amount to a child who was studying in the light of street lamp. Find
how much agnount of money he donated and purchased how many boxes from the market ?
Why Ramfdid so ?

/ forg o o 2 v P 4Pl 91 ST S T S 3 ST % o 5 e g 4
. ' ®
<0 Wi % aRom A et 2 ga SR
31 FEY S % % 49 cm?2 3R 81 cm?2 ®, @ 3% IR H 31U 71 hifsg |

Prove that the ratio of the areas of two sumlar triangles is equal to the rat10 of squares of their
onding sides. @™ _o®

corres

sing the above theorem, solve the following : The areas of two similar triangles are 49 cm?
#4nd 81 cm2, find the ratio of their perimeters.

N

G

AABC ¥, afg ADLBC 3R AD2=BD x DC %, i fag ®ifsie f5 /,BAC=90°% | @

In AABC, if AD1BC and AD2=BD x DC, then prove that ZBAC=90°.

27 CIEREE g1 4

tan2 30°. sin 30° + cos 60°. sin 90°. tan2 60° — 2 fan 45°. cos2 0°. sin 90° @
Evaluate :

tan2 30°. sin 30° + cos 60°. sin 90°. tan2 60° — 2 tan-45°. cos2 0°. sin 90°

o) /,v g.,.
/ fag ifse f& . : 4
cot3e. sin39 & tan36. cos>0 _ secb cosecd — 1 _
(cosd +sin8)®>  (cos + sinf)®>  cosech + sech
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Prove that :

cot®6. sin’0 % tan’f. cos>0 _ secB cosec — 1
(cosh + sine)2 (cosB + sin9)2 cosecl + sec
fag Fife fe -

; 2, -
A—1 : :

i N ( S ) = (cotA — cosecA)?

secA +1 1+ cosA

Prove that :

secA / sin/ % ?
: = = (cot cosecA)
sg;/( +1 1 4/0sA ,

& faermera & @ feam # 300 faenfefdt 3 s foran st oy Fr de A eai | E .

g (au 7) 5-7 7-9 9-11 |11-13 | 13-15 | 15-17 | 17-19

foaenfeai =6t @& | 67 33 41 95 36 13 15

SR AFSl o H1EA R Sgelh A4 BT |

On the Sports day of a school, 300 students participated. Their ages are given in the following

- distribution :

Age (in years) 5-7 7-9 9-11 11-13 | 13-15 | 15-17 |17-19

Dl of | 67 33 41 95 36 13 15
students
Pl 8 = \
Find the ‘%{yﬁﬁd 2 of the data. 4 Q v,)

. A ¥

©
e faarea & @ feaq 7 150 faenfefai 3 v foran) faenfefi 1 omg fra seq A coi 7€ 7 a7
| “\

(=t ) afuw | o | ofus | o | afus | sfus | it
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150

136

110

85

65

43

15

msﬁ@@,@‘@ﬁw%w'aﬂ?ﬁm@ﬁﬁqamw@mmmﬁml
IR GRI S9! Sire i Hifew |

School held sports day in which 150 students participated. Ages of students are glven in the
' following frequency distribution :

. M M M
Age th:;e th:;e th:re More More More More @
n
than or | than or | than or | than or
2 or or or .
| (in equal ). | el equal | equal equal | equal
u equa u
years) tc?S t:)l7 t;]9 to 11 to 13 to 15 to17
Number )
- of 150 136 110 85 65 143 15
students

For above data, draw a ‘more than type” ogive and from the curve, find median. Verify it by

actual calculations.
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